Exercice AT
Amorces let?2

CGGGTTTTCAAGCAAGTAATTTTGG
TGACCCAATCTTCAAACAAACAA

Primer A et B
GAAAGGTCGCTGTCGTCAAG
TGCGAGTGTATCGGTGTACTG

Produit PCR

GAAAGGTCGCTGTCGTCAAGCTTCAATTATGATCTGTACATTTGCAATGCGATCATAGACGAATATACTTATCCCTGTTA
ACAATAACGAAAACATGTCTTTTGTACAAAAAAGAACTTATGAATTGCAATTTAAGTGCAACTTCTATAACAATATTGCT
ACAAGCCATAATTCTACTAACTTACCGAAATGGTATTAACAAAGTACTGTAGTGGAATACTATCTGTAGAACATTCAATC
AACTATGGTATATACTAAAGTCGACTCGTGCGAAGCTTGTGTTTGATCGATTGATTTAATGTAAATAGTGCTTTCTTCTC
AGCGAATGATAATTATTTTCATCAAATGTGATAATCAAATAATTACTATATATTATATTATTGTACATAGTGTCAAACAA
ACAAATCGAATATTTCTAGTTCAGTACACCGATACACTCGCA



